DAY 1 :: Task 3 :: Solution 
This problem is motivated from the problem of discovering association rules between items in a large database of sales transactions. Given a set of transactions D, the problem of mining association rules is to generate all association rules that have support greater than the user specified minimum support (called minsup).

The problem of discovering all association rules can be attacked by finding all sets of items (itemsets) that have transaction support above minimum support. The support for an itemset is the number of transactions that contain the itemset. Itemsets with minimum support are called large itemsets, and all others small itemsets.

Algorithms for discovering large itemsets make two passes over the data. In the first pass, we count the support of individual items and determine which of them are large. The small items are discarded. In the next pass, we only consider the large items in order to discover couples that appeared at more than minsup parties.

